Firefox

Regression report
Date: 2024-10-10 Time: 14-42-02
Summary report

Module

ospt_area 1

Testcase Complete Summary: Total: 14, Passed: 14, Failed: 0

Detailed report of ospf_area

Testcase summary: Total: 14, Passed: 14, Failed: 0

Testcase name status User Input

test_case_01_creates.1 Passed Tt {
sarea id
wurt nane

res id: 2,
“authentication type": "message digest”
“default

i

«
“enabled”: true,
“nosummary": true

e,
RREVI
“212.2.27240
11328
BEEEEE
31518/23°,
23.235.75.1/23°
“Urf_nane: *rf1*
“area i0": 5,
“virtaal Unks®:
3.7.35.0°

“router_id"

peicatiors (

i <
ncvkxl/wwqunuzn»n/auslzuxmgdwz
ey encrypred tri

lead interval": 16,
enabled”: true,
ello,_interval -
nessage dpent L1305 1

U2 pATKEAGOF 3 Xt ARG
kep_encrypted's tru
e

U2 [OTBZSTIEGHsPI7S bgokazs
ey ancrypied

Fetranseit interval”: 40,
outer 44" *34.7.35.2°,
ransmit_delay: 50

)
¢
authentication”
rauth type’: “nessage
ey uzFsdtvkxlxb/!yﬂswuysovuufnfmxxVWKMJY 5
"key_encrypte
)
ette intervate: 20,
fouter id": +34.7.35.3°
3

1
“Urt_nasen: e

test_case_01_creates.2 Passed Tt (
“area id: 1
~urf fome’: vty

id: 2,
uthentication type": "message digest”,

“Urt_nase: *vr1*
“area id*: 3
“filter List'in; “pf1®
“filter st out': “pi2t,
ranges: [

vertise®s true

a
pretel 1172

avertise’: false,
refi 110127247,
Substitute: +2.2.2.2724

dvertize®s true

oretie e
“Substituter! +3.3.3.3/24°

1
“Urt_nases “Vrf

“area 4"
“networks*: |
ERRRVTN

5115230,
+25.235.75.1/23°
“Urf_nane: Ve’

“area id": 5,
“virtaal links®: |

«
“router_id": *34.7.35.1°

mnensication (

stncvkxl/ovvvxmwunuzrmc/ausmAstga
"key.encrypted”

lead_interval

2SO pATKGHGOFS Xtz AR BOOR
ey anerypred”

T SURKL OO 20TIE SIS
Key_encrypted”
d

router 1d": "34.7.35.2",
transnit_delay”; 50

ype: “message digest”
© U2FSHGUKKIB/AyOSKMUDY VU KK T TV TGs:
“key_encrypted”

)
fetto interval-: 2
“router idv: 134.7.35.3°

test_case_02_delete_partial1 Passed 4t

1
e e

)
Urf_naner: Ve

“area 10°: 3,
“Filter List in': “prl®
[

IRV

refia: 11127247,
ubstitute® 12.2.2.2/24"

L1328

“area id"
ot ket ©

roster id": *34.7.35.1°
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Total testcases

Commands Before

Commands: [ Before: (1

“alentication Wue
“detault cost

*sessage digest”,

amm .
defay

“area id": "0.0.0.3",
“filter list in': “pi
“filter Uistout’: "pf2",
“ranges™: |

“advertise" true,

Passed Failed

After Module exception

Afters ( Error: “Ho Error’
i

-0.0.0.2°
“authentication type': “message_digest
default cost”: 3,

Shorteut™: “defalt”,

stub':

enabled”: true,
no_sumnary": true

Ve nane”: vrf1

oren id"; *0.0.0.4,
“netvarkst: |
T,
3511523
25.235.75.1/23"

1
et nane: “vre1

. )
“prefix: *1.1.1.1/24° ¢
rarea id°s *0.0.0.5°
virtial links': |
TS, “router id": *34.7.35.1°
bstituner: 21203 272 .
)
« ravtrentication':
“advertise": true,
rcost: 1o, 2 e spmmn IN_N0_L0G_PARAHETE
Tprefixt: “1.1.1.3/247, ey encrypted: tru
“Substitutert 3.3.3.3/24°
) jead interval": 16,
“enabled"
ater: rserged’, “hello interval*:
“urf_nane’: it essage digest List': [
i
Tkey's “UALUE SPECLFIED I 10 L0G PARAETER',
“area id": "0.0.0.4", ey encrpred tr
“netuoriks
L1720, .
+23.235.75.1/2 key": "VALUE SPECTFIED TN N0 LOG PARAMETER",
. ey encrpred”
“tater: "serge
et nane": "VrfLt
3 1
*Fetransit interval®: 40,
“area id": "0.0.0.5", router 1d": “34.7.35.2%
“stater: “merged”, “transait_delay": 50
“virtual Unks®: { .
“router id: "34.7.35.1° autpentication: {
. h type": ‘message digest”,
et haiie  SPECIFLED T 0 L0G PARAETER",
oo “key_encrypted”
uth
e stuFrEn TU_HO_LOG PARANETER ello_interval®
“key_encrypted®: t rower 1 a5
“dead interval”: 1o, 1
e e, Ut nane: ey
“hetlo_interval*: 3,
“message digest L1ath [
rarea 107 *0.0.0.3",
Ky AL SPECIFLED I I0_LOG PARANETER *filter list_in': "pf1”,
ey encrpied filter Ustout': pf2*,
ke *ranges: [
)
§ true,
ALUE SPECIFIED 1110 106 PAMIETER”, o
kev encrped™s tn prefix': "1.1.1.1/2¢
1 atvertiser: folse,
“retransait interval": e 12720
“router 0" "34.7.35.2 Sibitititer: 232272
“transmit_delay’i 50 5
advertise®: true,
atpentiction”; ( B i
- est prefix’: *1.1.1.3/2
ey o smmsn SN0 Lo pamsneren, Substitute’t +3.3.3.3/24
“key_encrypte: ,
“hetto nerate: 2 et nane: “vre1
“router dt 134.7.35.3"
) )
]
et naner: i
1
Commands: (1 Before: [ After: Mot defined Error: “Ho Errar’
¢
auznenu:aunn tvne “nessage_digest”,
et nanes: vee
3
0
rea_ta": "0.0.0.4",
etuorks™: [
L2,
31511523,
*23.335.75.1/23"
et nane": urr1®
3
(
rea id: "0.0.0.5°,
irtial links": [
“router_id%: *34.7.35.1°
I3
“authentication
auth_type*:
“key: VALUE stuF]En IN_NO_LOG_PARANETER"
“key_encrypted”
“éead interval®: 10,
“enabled": true,
“hello_interval': 30,
“nessage digest List': [
Koy “VALUE SPECITIED 1 M0 106 PAWIETR",
“fer_encrypied
1
“key": "VALUE SPECIFIED TN NO_L0G PARANETER"
g1 encrypred”
“retransnit interval: o,
uter 6" "34.7.35.2",
“transnit delay": 50
teniction; {
uth. type™: “message digest
eyt VALUE SPECIPIED TN NO'LOG PARMETER'
“key_encrypted”
“hello_interval: 20,
“router ds 34.7.35.
¥
1
et nane=: el
v
Tt true,
i
praties L1200
“advertiser: false,
“prefix:: ~1.1.1.2/24°,
“eubstitute'} ©22.2.2/20"
Tadvertisen true,
1
prefixc: 1.1.1.3/267,
i 535
¥
L
et nane: “urf1
1
Commands: [ Before: [ Arter: ( Error: "Hlo Error”
“area id': "0.0.0.3, “ares ia': "0.0.0.2°, rarea ids *0.0.0.2°
“filter list_in': "pf2*, authentication type’: “message digest”, detatt
“ranges®: [ jefault_cost”: 3, “shortcut™: “defanlt”,
Shortcut: “defailt, “atub”
avertiser: e, b { enablea”: true
“enabled": true. :
pretier: 1113200 oo Svmmary" thue et nanets ver1
. 3 .
of nanets el
prefixt: *1.1.1.2/24%, 3 oo 0004
“Substituter! 2.2.2.2/24° t “netwe:
. 2 id": "9.0.0.4%, Ta.5%5.75.1/22°
neorke’: { .
+ true, L2, et nane: “vre1”
3511523, )
112 *23.235.75.1/23" 4
i rarea 107 *0.0.0.57,
i Ut nane: “urf1 Virtaat e {
“tater: “deteted I3
“urf_name": "rfL® { authentication": {
3 rea i 000,87, Ty UG TN G IE N
Virtual Links “key encry
“area id": "0.0.0.4",
“netuorks* “router 167 *34.7.35 1o interval”
RSV b “nessage digest list’: |
s/ ¢
otpenication ' UKL OO TOTIE KPS TS5,
e deletes auth ey snerypted”
“urt nanet: Hrfl o ustdavkxx/ovwxmwunhuzﬂmlwsliuxwgdui— i
I3 “key_encrypted”
I3 1
i "0.0.0.2, “lead interval®s 1, “louter_id": *34.7.35.2°
“authentication type’: "sessage digest”, “enabled: tru
“state: “deleted-, “hello_interval': 30, 1
“atus ( “nessage digest List*: [ et nane: “vrr1
no_summary": true i 3
K" AL SPECEFIED DU 10 L0G PARANETER” 4
et naner: e “key encrypted": rare: *0.0.0.3",
3 “Filter list out*: "pr2°
. *ranges: [
“area id"; "0.0.0.5", i
“stater: “deleted-, her" . U2F G /KOZORGTIEGHG P STgokotas “advertise": false
“virtal Unks®: [ “key_encrypted®: tr prefix’: "1.1.1.2/20
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Testcase name status User Input

“authentication®: {
"auth_type's “text’

dead_interval’: 10,
senabled": true,
"sessage digest List": |

Ky "U2FSAGUKKL/upATKEXOAFS3 ruXFOdq1z /S2NNEOORC
Key_encrypted”: trie,
“hey 14" 1

1

Fetransait interval”: 40,
outer 1" "34.7.35.2°,
“transnit_delay! 50

“authentication: {
hey": "U2FSGUKKIEB/AYOS KDY B0V KT TV TGS,
Key_encryped”: true

hello_interval*: 20,
“router_id": "34.7.35.3"
)

1
“irt_nases Vet

test_case 02 delete_partial 2 Passed Tt (

rarea 107 1,
“urf nane": e

“area 10" 2,
“authentication type": "message digest”,
[

“stul
“no_summary": true

et _name: “Vrf1”

caren it 3
“Hilter List ins a1,
“ranges*: [

prefix': "1.1.1.1/20

prefix': 11.1,1.2/24",
“Substituter! 2.2.2.2/24"

radvertise": true,
ost: 10

11328

rarea 10" 5,
“virtuel lnks®: {
router_id": *34.7.35.1
authentication”: {
"auth._type": “text”
lead interval: 10,

nabled": true,
nessage digest List": [

"Key": "U2FSGKXL/WpATKEXGAF3S  ruXFQ4qi2/S2UNOOR
“key_encrypted" true,
ey idn: 1

1.

Tretransait interval: 40,
i "34.7.35.2°,

“transmit delay"; 50

)
4
uthentication®: {
ey "U2FSUGVKXISB/AYOSKHUBY 30V TKICKT TV TGs="
"key_encrypted”: true
etto_inter
rauter id-
3

1
“Urt_nase"s rt1”

2 0of 6

Commands

“authentication: (
“key: "VALUE SPECIFIED IN NO_ LOG PARANETER",
“key_encrypted®: true

“hello_interval*: 20,

“router id" "34.7.35.3"

“router i

34.7.35.1

“authentication: (
auth_type’: "text

“dead_interval’: 1o,

“enabled”: true,

“nessage digest List": |
¢

“key": "VALUE SPECIFIED IN O_LOG_PARAMETER",
"key encrypted’: true,
ey 1" 1

1
“retransnit interval": 40,
“router d" "34.7.35.2
“transnit_delay’i 50

L
et _name: rf1®

u
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“key 1" 3

“retransmit_inter
“router ia: *34.
“transnit delay

“authentication
Koy “VALLE
“key_encrypted
b
“hello_interval.
“router id-: 34

)

1
et nane®: ure

area id%: "0.0

Before After

vt
735
s 1
et nane: “vre1
)

« 1

SPECIFIED TN N0 L0G PARANETER' ,

2,
736,30

“advertise™s true

v d,
“prefix: "L11

“advertise"s fals
“prefix:: “111)
“substitute’! 2

“advertise®s true
“cost”: 1o,

“prefixt: ‘111
“aubstitote’; 3

et nane=: uef1

Before: [
«
rea id: "0.0.0.2
defautt cost’: 3,
“shortcut-: defasl”

stub {
“enabled: true

et nane=: el

area 1d": *0.0.0.4",

“netuorks: [
23.235.75.1/23

1

et nanes: vre

area_ia": "0.0.0.5",

“virtual links* [

“authentication

«
Koy ~U2FSAOVKKL/+VYVHONOORU2FING/ GHSTELS2BNGtE:
true

“key_encrypted

“hello_interval”
“nessage digest U
uar:
“key_encryp
)i

)
“Houter a7 "3,

et nane: ve1®

area 10" "0.0.0.3",
“filter list out™: "p2
“ranges™: [

1200

24,
2.2.272

3200
33570

After: Mot defined

0
st (

4G/ /KUOZ620T2EQHKPSPHATS THHbgokoZ25"
ted": true,

7.35.

“advertise false

“prefix’ "1.1.1.2/24
efix: 111137267,
“eubstitote’! $33.3.3/20°

of nanes: el

Module exception

Error: “Ho Errar’
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Testcase name Status

test_case_03_replaced.1 Passed 1ot

test_case_03 replaced.2

User Input

0

“area 4"
“Filter List in
“filter List o
networks
st
Senabted: true
34,1035 3720
. et namer: nvrrLs
“ranges*: ( b
sadvertisers folse, rarea id": "6.0.0.
prefix': "1.1.1.1/24", “filter_list out"
ettt A e “ranges™: |
. «
“advertise”
s 3 “prefix
e 12, I3
Histicute’: 225 2200
) erixe: 11
q “substitute”
i

tre, “urt name”: "rf

2227200

derisers folse,
refixt

1 34135 3/20"
“aubts

L
enabled™: true Fanges*: [
s

“lirtual Unks®: | avertss

3.7.35.0°

“router "

“tater: rdeteted-,
o

“prefix': "1
Slbstituter

Commands

3,
B2,

;e
112720

3247,
313337200

arks’: 1
23.235.75.1/23°

e,
L7

“dead_interval’: 15, a4,
uter id": "34.7.35.2° oretine 27287,
“Substituter! 2.2.2.2/24"
ve1e
ragvertise": true,
“cost: 10,
“prefix: “1.1.1,3/24"

au!henu(nlnn L type

extr, )
“networks": | 1
e “itater: “replaced”,
315157230 “urf_nane": "yrfl-
Virtual Uinks: |
“area id": "0.0.0.2",
“router_id": *34.7.35.1° “ranges": |
)
e e,
penicatior; (
w Soretieet 22,2200
2Fsncvul!gvkenﬁ/wrhnrpvzumnumsmvwzn
v encrypied
“advertise®: false,
15, “prefixt: "1.22.3/20%,
ne\ln interval : 25 Elbstitute’; 1.2.2.4724°
sage. digest list': [ .
“Key": "UZESOGUKXL/WPATKEXOAF3S) ruXFO4qd2/S2NNBO0R “state replaced,
“key encrypted”: trie, “etun

KL /KVOZO20T2ECHKPS Q7S THnDgokoZ2:
true.

ey _encrypted router i
Key id": 3

i
ransnit delay"; 50

I
3 et name®: "vrf1-
3

supenication’

¢
ype’: “message digest”,

Koy ancrypeeas e

3515723

fetto interuale: 20,
“route: 347,353

“virtual Unks®

1
“irt_nase"

“router_id":

“area id"
“Shortcut®

defaute”,
veri®

Senabled: true

)
Flirteat ks (

dead_interval
o, “router 1d"
5

34.7.35.1

s,
34.7.35.2

+ e,

“itater: "replaced”,
i

34.7.35.1

augpenication”

e s?EuF[En W N0 LoG PARANETER"
<

ey encrypted:

rea id 6.
“urf_nane: e

“dead_tnterval®: 15,

“hetlo_interval-: 2,
“nessage digest Listh: [
i

e

interval:
34.7.35.2

ALUE SPECIFIED 1110 106 PAVMIETER”,

oy encryptedr,
i

PECIFIED TN NO_LOG PARAMETER"

“transmit_delay”i 50

“auentication”

«
e “aessane digests.
LE

PECIFLED I\ 0106 PARAHETER”,

“hetlo_interval*: 20,

“router id"

]
et naner: e

Passed 1wyt { Comands: (1

fatse,

1177,
ERSRZIY

“cost®: 34
pretixc: 1127207,
“Eupstitu 2.2.220

)

§
tre,
1132

“irt_nase"

“area 14"

“ranges*: [

b

avertise’: true,
ost: 10

2227200

b (
“enabled”: true

dead_int
router. id-

al: 15,
“34.7.35.2¢

30f6

“area id": 3
“authentication type': "text”,
s
ERSRVIY
315115/23

Virtual Unks: |

“router_id"

3.7.35.0°

aupenication'; (
i

. z;suavmsgmna/pemwvmmmmmzn
ey encrypied 1ri

lead_interval

1o interval-: 25

sessage digest Listh: [
[

13,

2SO pATKGHGOFS Xt S2ARBOOR
Key.encrypted
d

“Key': “UzFs
key_encrypted
Key 10" 3

KKL/ /KVOZO20T2EOHKP Q7S THIDgoko?Zz:
true.

retransmc ntervl: 40,
raste 73527,
ronsnit detay s 50

aupentication

uzrsdavulxu/Awswvyinvuuvmknxxwwmms 5
o encryped

I
hetlo_interval*s 20,
“router idv: 134.7.35.3°

1
“irt_nase"

“area 0"
“shortcut”
“urf nane"

i s,
“urf nane": e’

ENTE Y
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Before After Module exception
Before: [ After: [ Error: Mo Error
{
ig- 2
efauls cost: 3,
for Lo e
enabtea: true
135272
Vrf_nane: “rf 34113513720
& ranges": [
e id: c0.0.0.4%
etuarks: “advertiser: fatse,
355812 prefix’: "1.1,1.1/24",
“Substitute"; “1I1.1.2/240
ot nane: “vef1® .
neost: 34
o id": "0.0.0.5°, preries 11127267,
virtsal_tinks; [ “Substitote"; +212.2.2/240
aentiction: ¢ ¢
USROG S EL BN, vrtises e,
e encrypreat cost*:
. “prefix's *1.1.1.3/24"
hetlo tnterval”
“nessage digest st [ )
Ut naner: “vre
“Hey" 1 VALUE SPECITIED 1100106 PAWMIETER”, )
“Hey encrypted™s
i rarea id": 10.0.0.2%,
=N
)
“router id%: *34.7.35.2" dvertise’: true,
o5t 10,
I refix: +1.2.2.2724"
Urf_nane: “vefy )
¢ radvertiser: fatse,
rea id*: "0.0.0.3", 22
Ster st out": pr2e,
ranges: [
“advertise: false, b ¢
“prefix: "1.1.1.2/24" enabled: true
"etrtual Unks': [
“prefix': *1.1.1.324",
“Substitute’; ©3.3.3.3/200 “router_id": *34.7.35.1°
. .
vt nanes: “vef1® “dead interval: 15,
er id- +34.7.35.2°
)
I
Ut nane: Ve
Tovthantication.tipet: “textr,
“networks': [
EREEVI
35.1.5/23
"etrtual Unks': [
“router_id": *34.7.35.1°
mpenication”s (
Lt stt[nEn IN 0 L0G PARMHETER",
er encrypred
d interval”: 15,
hello_intervol”: 25,
“nessage digest List': [
“key*: “VALUE SPECIFIED IN NO_LOG PARAMETER'
“hey encrypted”: true,
“kes
ey “VALUE SPECIFIED TN MO LOG PARAMETER",
“key encryp
“key 1d+: 3
i
Fetransnit interval*: 40,
router 16°; “34.7.35.2-
ransait deloy": 50
cuprentication:
typet: “nessage digest:
eyt MinLie SpeciEiEs M0 L0 PaRANETERY,
ey encrypted
b
hello_intervo": 20,
Srouter i 34.7.3.3°
)
Rt naner s “vre:
rarea id: "0
Shortcut: “defautt,
ot nane; “Veri®
rarea id": *0.0.0.5°
Virtuat Linkers |
“authentication": (
ey "U2FSOGVKKL/+VTVXDAMOONU2F NG/ GHS ELaBNE="
“key._encryped: true
»
el interval: 30,
nessage digest List': [
ey “VALUE SPECTFIED TN NO_LOG_PARAETER
e encripied”
“key_i
1
Fouter_id": *34.7.35.2¢
I
"t nanet: “vef1®
)
Before: [ After: “Not defined Error: Mo Error
0

“advertiser: false,
“prefix:: "1.1.1.1/24",
“substitute’} “111.1.2/20"

reost: 34,
“prefixt: ‘11127267,
“substitute’! ©22.2.2/20"

“advertise: true,

“cost”: 1o,
“prefixt: “1.1.1.3/20
of nanet: er1®
3
0
rarea 1a": "0.0.0.2",
ranges™: [
l§
“advertise: true,
“cost”: 10,
“prefixt: “1.2.2.2/20
“advertiser: false,
“prefix:: "1.2.2.3/24",
“lubstitute’; 11.2.2.4/26
1.
bt (
“enabled: true
Virtual Lisks:
“router 1% *34.7.35.
“dead_interval®; 15,
“router_1d-: “34.7.35.2"
1
et nane": urr1
I3
€
rea ia: "0.0.0.3",
authentication type’: “text”,
“netuorks®
L1126
31511.5/25

Virtual Unks": [

“router id%; *34.7.35.

authentication”s (
“auth_type’
“key*: “VALUE smmzn IN.0_L0G PARAYETER"
“key_encrypted”

dead interval”: 15,
“hello_interval": 25,
“nessage digest Uist*: [

K" AL SPECIFIED 1N 10_L0G PARANETER”
“Hey encryp

Koy VAL SPECIFIED 1N 10_LOG PARNETER”,
ey encrypted
5

i
Cretronsmit intervale: 40,
it ety 30
It

“outhentication’s ¢
“auth type": ‘message digest
PECIFIED N N0 LOG PARAVETER",

“key" T “VALUE ¢
“key_encrypted”

b

Thello antervt: 26,

“router d-: 34.7.35

of nanet: el

rea o
hortcut
vt nane®

e

rea a": "0.0.0.5",
e e
authenticotion: ¢
RSO0 G Gz
ey, encrypted

“hello interval”
“nessage digest listé: [

“key": "VALUE SPECIFIED IN NO LOG PARANETER",
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Testcase name status User Input

Passed  Tneut: [

“shortcut: ‘gisabler,
“urf nane: “Vrf

test_case_04_overridden.1

+31515/230

Fanges* [
b
tre,

L1

asvertises folse,
refixe
]

Shortcut®: disable,
“stub*
no_sunmary": true

)
g
dvertise’: false.
prefix’: 11127207,
“Substituts 2.2.27200
radvertise": true,
o5t 16,
11308
313357
3

1
Virtual Unks: (
i

upensicatia
typet: nessage o
2ancvkxus/Ayﬂswwznwufnfxmxnvxmvns
"key. encrypted

)
dead interval’: 15,
nabled": tru
el intervats: 25,
router id"; 34.7.35.1°

deag_tnterval’: 10,
nabled: true,
sessage digest List™: [

hes

KX/ pATKEAGOF3 Xtz AR BOOR
ey enerypred”

2SS [KOTEZSTIEOH PSP MbgokaZs
e ancrypied
ke

Fetransait interval’: 40,
router 1d": "34.7.35.2",
transnit_delay”; 50

1
et _name: “yrf1”

 id": 6,
“uirtaal Unks®: |

et cation”

nessage digest
ZFsﬂGvuus/nyﬂswwznwufnfxmxﬂvxmvcs
"key. encrypted

nabled: true,
hello intervat
router.id”

2,
367,353

test_case_04_overridden2 Passed  Ineyti [

61
“shortcut': “gisabler,
Ut naner; “rf

“area id": 2
“authentication type: "text”,
“Filter List in: “pfl

315 015/230

anges* [
i

4 of 6
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Commands Before
“key_encrypted”: true,
key i 3
)

I
“louter ia%: *34.7.35.2"

1
et nane®: vee

Before: [

351/

“itater: "deleted
“virtual Unks*: [

“router_id": *34.7.35.1
I3 abvertisers false,
« “prefix: "111.1720",
“authentication": { i T e
Fauth_type” "te

X189VKeDG/pOTb PV s0q RIBCUTKSR

) fie 11127207,

*dead_interval’: 15, “ubstitute® ! 2.2.2.2/24

“hello interval’s 25,

“pessage digest Uisth: [
i “adver

tise": true,
ALLE SPECIFLED 11 10 L0G PARMETER” “cost”: 1o,
m encrpted™s “prefix': ‘1.1.1.3/2¢

1
et nane": urf1®

“key": "VALUE SPECIFIED IN O LOG PARAHETER",
key_encrypted: true, (
e 3 rea id": "0.0.0.2",
anges”: [
1 l§
“retransmit interval’: 40, Tadvrtisers trve,
Trouter id": "34.7.35.2", ~cos
“transnit_delay”: 50 et 2.2,
. I3

asmenication ¢
“auth.type:
ey Yintie seeciieo B’ oo praweren-,

“prefix: 237207,
“Substitute®! 11.2.2.4/26"

“advertise: false,
2

Key.encryptet )

) 1.
“hetlo_intervat®: 2, "t

“router id: "34.7.35.3" “enabled": true

. Virtual Links®: |
Vet _nane®: el

“router_1d%: *34.7.35
I3

1, “dead_interval®: 15,
P12t “router_1a%: *34.7.35.2

et nane: el

false,
11724,
lbstitet 11220

1
“irtun_tinks®: [
o

1.1.0.2020°, “router_1d%: *34.7.35
B P I3

autnntication
ragvertise": true, auth_type*:

st 10, uzisacvkxwgvkebc/polhbruvzvrsmokaﬁkaeza—
ey encrypied

11132
“Gead_intervat-: 15,
“hetle ntervlhs 25,

“message digest list': [

“itater: "deleted
et

“Hey' i VALUE SPECITIED 1000106 PARMETER",
0.0.0.5", “key_encrypted:
Letes “key.

“virtual Unks*: [ )

¢
“authentication": ( Ko VAL SPECIFIED 1010 L0G PARANETER
ey “U2FSGVKKL/+VYVXOO0NU2F NG/ GHS 1E Z8NGOME=" , ey sncrypced':

) i

“hetlo_interval” 1

“nessage digest List': | Fetransnit interval”: 40,
i “router 10-: “34.7.35.2",

“key": "VALUE SPECIFIED IN O LOG PARMHETER", “transnit delay"; 50
rypted” true,
3

“authentication
auth type*: “sessage o
;73520 eyt aLle ShECTHTED T Mo’ Loc PARMETER"
“key_encrypted”

verne “hello interval: 26,
“router_id-; *34.7.35.3

1
et nanes: “urr1

0.0.0.0°,
Tortcut:: Cdefault’,
oF nane: Vel

“area id": "0.0.0.2",

“ranges”

advertise": true,

rea id": "0.0.0.5°
16, irtual links: [
1.2.2.2/280

“prefix
“authentication”: {
AT UG T OONZE NG RSB ="

“atuertis ey encryptea

Lse,
2023720
ket e

b

“hello_interval’

W “nessage digest list*: [

. «

“deteted, er™s “VALUE SPECIFIED 00 L0G PARAIETER'
“hey encryp

“enabled”: true

“lirtat ks ( W
“louter_1a%; *34.7.35.2

router_ide: *34.7.35.1°

of nane: el

rdead_interval”: 15,
“router 10" "34.7.35.2 1

L
et nanet: nvrr1-

“area id": "0.0.0.3",
“ranges®:
~advertise": true,
“cost: 4
“prefix: "1.1.1.1/24"

“atre

- Yoo,
e Y

“advertise": true,
16,

“prefix: “1.1.1.3/24%,

“substituter! 3.3.3.3/24°

“overridden,
“virtual Unks*

augrenication”

sage diges
Tor: MRLie Sheciried Bh ! Loc e,
ey_encrypted: t

fead_interval”: 15,

“router id": "34.7.35.1

“dead_interval’: 10,
“enabled”: true,
“nessage digest Uist": [

Ky AL SPECIFLED I 10 L0G PARAIETER,
e_encrypteds
e

ALUE SPECITIED 11 10 105 PARMETR"
m encrypted

1
“retransait interval”: do,
oo Tsa 732

“transnit_delay

L
et namet: e

rarea 1d": ".6.0.1",

;nmm : rdisante’,
fate": “overridden*,

i e T

et 000
- mmmn-
it tiner 1

senicotior
uth

ey UL seecirieo B’ oo praweren-,
key_encrypt

)
“enabled”: true,

“hello interval’: 20,
“router id": "34.7.35.3"

L
et namer: "vrrLs

advertisers e,
et L2

adversiser folse,
prefix: *1.1.1.6/24°,
Tttt s e reraer

overridden”

< (
“no_sumary": true

Commands: (1 Before: [

hortcut”: “disabte’,
Fname: vel”

35823

“Fanges: |
<

After Module exception
Atters ( Error: o Errar”
rarea id": *0.0.0.1°
Shortcut: “disable’,
“ur naner; Ve
et
RN
“rangest: [
advertiser: true,
L1
»
€
advertisers fatse,
A

ubstitut

1
*ihorteut: "disable’,
“stub”

o summary": true

et naner: “vre

rarea_id°s *0.0.0.3°
1

ranges'
¢
dvertise™: true,
“prefix®: *1.1.1.1/20

dvertise s fals
prefixt: 11137267,
e

radvertise": true,
ot 10

refix': “1.1.1.3/24
ubstitute® 131333720

)

1

Virtual Links: [
«

uppensication”
i type": “message ¢
YonLie Secteieo I o' Lo pARAETE
ey tncrypted

deas snterials: 15,

Toster o S

t

key": "VALUE SPECIFIED TN N0 LOG PARAMETER",
“key_encrypted”

Ther's “VALUE SPECIFLED 11 10 LOG PAWYETER
“key_encrypted”

Fetransnit interval®: 4o,
outer 1d": "34.7.35.2°,
transwit_detay": 50

1
et nane: vre1
)
rarea 1d": *0.0.0.6°
“Uirtial k'

“authentication®

“nessage digest”,
“UALUE SPECIFIED. T N0, L0G_PARAHETES
ey tncrypted

e e,
hello_interval‘: 20,
Touter 1a 34.7.35,3°

1
et nanets “vre1

Afters Mot defined Error: “Ho Errar’
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User Input Commands Before After Module exception
advertise": true, “advertise: true,
ost: 1 et
L1572 “prefix: "1.1.1.5/24"
odvertiser: folse, s false,
s ~11.1.67240
Sinitisoner: o6 g 6720 i e e e e
)
i
“Ehortaut: "gisable’, Shorteut®: “disabler,
“stul “stuo': {
no’ sumary”: true "no_susnary": true
“urt_namet: *vrr1® Ut nanes: e
) .
¢
“area id": 3 varea id": *0.0.0.3°,
“ranges: [ ranges": [
“advertise": true, ravertise™: true,
ost: 8, cost': 3,
112 “prefix: "1.1.1.1/24"
) 3
4
“advertise”: false, “agvertiser: false,
refix': *1.1,1.2/24", et LT,
Ubstitute" 12.2.2.2/2 “Substitute® .
) 3
4
“advertise": true, “advertise true,
1. “cost": 10,
refix 1324, “prefix: “1.1.1.3/247
st 13133 a0 it 53550
)
) 1
“Uirtuat Unks: [ Virtwal ks [
mpensication ¢ “authentication”
o “nessane o auth typer: “sessage diges
2Fsucvkxlxsnynswvyznvwfnfxmxﬂvxmms eyt MaLie Srecisieo T Mo’ Loc panmETER"
ey encrypied “key_encrypted®
g tmeriots 3,
“enabled: tru
“hetlo intervats: 25,
el “router id+: *34.7.35.1"
<10, e meriat; 10,
n bted"
eeSiage dtgest List®: | “nessage. digest List": [
<
AL AKEAGE 351 AN ey VALLE SPECIFIED 1L HO LOG PAWHETER”
m encrpted “fer encrpred”s
v .
L OSSO SATSTgk Koy VAL SPECIFIED 10 M0 106 PAMIETER"
e ecrypied ey encrypted
1 W
retransnit_nterval”: 40, “retransnit interval: o,
735,27, “router 147 *34.7.35.2"
“transnit_delay": 50
)
. 1
“ur name "t name": “vef1®
. )
«
“area id": rea ia": "0.0.0.6°,
“virtial Unks: | Virtial Links": [
mpensications “asnentication
uh cgpe’s nessepe oies uth typer: “message digest”,
ustncvkxus/Ayﬂswwznvwfnfxmxﬂvxmms ey UALUE SPECTPIED TN NO'LOG PARMETER"
ey ancryptea “key_encrypted: true
o
hetlo intervat: = “hello interval: 20,
“router id 34.7.3.3° “rovter it +34.7.35.3"
“irt_nane" of name®: “ef1®
) !
test_case_05_clear subsections  Passed  I"PUt: [ setare: [ Ater: [ Error: o Errort
“area id* 0.0.0.1%, tarea id%: *0.0.0.1
“networks": 11, rortcut:: Cabiable’, “shorteut: “disabte,
“urf nome": Vit vr nane: “rfl T naner: “vrf
3 ,
0
o id 3, “area id*: *0.0.0.2°
“ranges* (] “authéntication typet: “text"
“virtuat Unks: ( Tilter list in': pfi,
i ranges’
uthenticaton*: (), l
router id": 34.7.35.1° dvertise: true,
» X costr: 0,
« Fangest: [ prefix': *1.1.1.5/26
message digest list": [1, “authentication’s { 3
rauter i4"7 "34.7.35.2° uth. type" "nessage “advertise: true,
3 ey Zrsdavkx1uu/Ayasknunvxnvuumfmxxﬂvmﬂn . “cost: 4, avertise’: fatse,
) ey encrypted: “prefix: "1.1.1.5/24" “prefix: "1.1.1.6/24",
urt_namer *Vrf1 . Substitute': *6.6.5.6/2¢
hetlo intervalt: 20, ragvertise: false, 1
“area id": 5, “router 1d": "34.7.35.3 et LaTee, Shortaut: “gisable’,
“virtat tinks: (1 “Substitute’; “6.6.6.6/24" St
- wef1: L no_sumnary": true
Vet name": "ve1®
) Ut naner: “vre:
I3
“area id": *0.0.0.3", 4
“ranges*: :
“advertise": true, b
reost 4 (
“prefix’t "1.1.1.1/24°
router 10 .1
“atre “advertise: true, 3
o S, “cost: 4, (
Sbstieuner: 2033 2720 “prefix: “1.1.1.1/200 eag servats 10,
Tetronsnit interval®: 40,
“advertiser: true, adverssers folse, router 1% “34.7.35.2+,
10, refixc 220, ransalt delay”: 50
sprefict “1.1.1.3/207, Sibectuers 23 2 200 )
“Eubstituter; 133337240 . !
Urf_naner: “vrf
“advertise™: true,
“deteted, “cost: 1o, )
“virtual tnks: [ “prefis L,
“Substitute’; 3.3.3.3/2
“nessage digest List": [
1
AU A 3) T SSOR irtua Links*:
o encrypred:
“key, autnntication
) uth type":
ks uzfsacvkst/Ayosmuuwnuuufhﬁmx»hvm,ms—
AL ST ey encrymied:
o encrped”s
et g et 15
abled: trve,
i -mm nceriall: o5,
“router_ta": "34.7.35.2" et 734,73
. b
“authentication® e erat: 3,
auth_type “ena
e a8 AR SDvuut KT NS TG, “nessage digest Lists [
key_encrypted:
. ey “U2FSAGUX/upATKEXDGF 351 ruXHOdQ42/O20NBOORG="
router_td": "34.7.35.1 “key._encrypted": true,
“hey.
1 I3
Ut naner: wr1® «
Koy UGG /KOOI SPATSTHSOK 225",
1 “hey e
I
“retronsnit interval*: 40
“router 1d: *34.7.35
“transnit deloy": 50
1
Vrf_nane; “vrf
3
«
190 100,067
irsiat Linkars |
ospentication
auth
“key” uzrsanvkan/Ayoskwvyinvuufhm«xyﬂvm,ms
“hey e
)
“hetlo interval: 20,
“router_id*; *34.7.35.3
1
"t nane": “vef1®
)
{est case 05 clear_subsections2  Passed 19 | Commands: 11 stares 1 After: “Not defined” Error: o Errar”
“area_id rea id": 0.
networks: {1, HorEcut-: “disable
U nase’: Vif1® of nane: “vei1®
. 3
«
ares e 3, area i 0002
uthentication type: “text",
“Virtan Unkse: ( iter it i oprie,
ranges”: [
“authentication”: ()
Cd 34.7.38.00 Todvrisers true,
I3 3
« “praties L1520
ressage 3
) b “agvertiser: false,
i “prefixt: “11.1.6/24°,
“Urt namet: "yrr1t “Substitute’; 76.5.6.6/2
s hortcut-: “disabler,
virtual Uinks b
" "no_susmary": true
)
) Ut nanes: “ver1®
)
€
rea ia": %0.0.0.3°,
Virtial Links": [
“dead interval®: 15,
“enabled": true,
“hello interval
Shoarit AR
e imeriats 0,
“enabled”
“Fetransnit Intervat: 40,
“router i6°: *34.7.35.2",
“transnit detay" 50
I
"t nane": “vef1®
)
test_case_ 06, delete._areas.1 Passed oyt { Comands: { serore: ¢ arters 1 Error: o Errar”
“area id: 1 ea ia varea i . rarea id": *0.0.0.3"
~urd fame: *yrf “authenticotion hortcut-: “disable’, Virtial Lnks: [
. “Filter list in ¥ nane- «
“ranges” b ead_tnterval”: 15,
“area id: 2, ( S,
“authentication type": “text”, “advertise": true rea_id*: *0.0.0.2 ello interval: 25,
“filter List in': “pr1*, reost: 4 uthentication type’: “text”, TETHE TR
“ranges* in: prie,
i
advertise": true, dead_interval: 10,
st 4, Tadvertisers trve, nabted: true,
1152 -cos retransnit interval”: 40,
pretixc: 1115724 uter id°; *34.7.35.2°,
“eransait detay”: 50
false,
11,6724 “avertiser: fatse, I
"5.6.6.6/24" “prefi: "1.1.1.6/24", Ut nanes “vef1®
“Substitute’; “6.6.6.6/2¢
) )
Shorteut: "gisale’, . 1
st Ut namer: vef1® Rortcut: “disable”,
o sumary”: true s {
) no_sumnary": true
“ur_namet: *yrr1®

50f6
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Testcase name Status User Input

test_case_06_delete_areas.2 Passed  Ieut: [

I3

2
“authentication type: “text”,

“Filter List in®: “pfl®

“advertise’: true,
;.

L1

“no_summary": true

“urf name: "Vrf1

test_case_07_delete_everything1  Passed 1000t 1)

test_case_07_delete_everything2  Passed  ["Pvt: (1

Testcase Complete Summary: Total: 14, Passed: 14, Failed: 0

6 of 6

Commands
shorteut”: "disable”,

Ctate': deleted”

Vel nane’: rfl®

Commands

1

Comands: [

area_id"; "0.0.

State": “deleted”

virtual Unks®: [
“dead_interval’: 15,
enabled: true
hetlo_interval’: 25,
“router d 134.7.35.1°

dead_interval”: 10,
enabled": true,

o,
router 1d": "34.7.35.2",
“transnit delay”: 50

L
et amet: rrL

Comands: 11

Before

file:///home/shade-talabi/regression-2024-10-10-14-42-02.html

Before After Module exception

Vet nanes: el

area id": *0.0.0.3",
virtual Lisks®: |
¢

fead interval*: 15
~enabled": true,
“hello_interval: 25,
“router id-: 34.7.35.10

“router ia%: "34.7.35.

)

Vrf name: Vel

t Afters Not defined crrors “Ho Errort

area 1d%: *0.0.0.3,
virtaal Lisks®: |
¢

15,
~enabled": true,
“hello_interval: 25,
“router d-: 34.7.35.10

“dead interval®: 1,

Ve name*: *vrf1®

( After: 11 Error: “Ho Errar
area_d": "0.0.0.3",
“virtial Unks* [
“gead_interval®; 15,
“enated: true.

“hello interval': 25,
“router_id: “34.7.35.1"

“gead_interval®: 1,
“enabled": true,
“retransnit_intorval®: a
“router ia: “34.7.35.2"
“transeit delay"; 50

i
et nane: “vrf1

il After: “Not defined" Errars o Errort
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